T5.T2
fa nO fuwa.
[bookmark: _GoBack]The sago.grub sees the meat.


T2.T2
fa fa fuwa.
The younger.sibling sees the younger.sibling.


T3.T3
fO fO kwiya.
The honeybee carries the wallaby.


T5.T2
ya nO fuwa.
The mother sees the meat.


T3.T5
fO ya fuwa.
The honeybee sees the mother.


T5.T3
ya fO kwiya.
The mother carries the wallaby.


T3.T2
fO fa fuwa.
The wallaby sees the younger.sibling.


T3.T3
fO fO fuwa.
The honeybee sees the wallaby.


T5.T1
fa kE fuwa.
The sago.grub sees the ant.


T3.T3
fO fO fuwa.
The wallaby sees the honeybee.


T2.T1
fa kE kwiya.
The younger.sibling carries the ant.


T2.T1
fa ndE fuwa.
The younger.sibling sees the centipede.


T5.T1
ya kE fuwa.
The mother sees the ant.


T5.T2
ya fa kwiya.
The mother carries the younger.sibling.


T1.T2
kE fa fuwa.
The ant sees the younger.sibling.


T5.T3
fa fO kwiya.
The sago.grub carries the honeybee.


T2.T5
fa fa fuwa.
The younger.sibling sees the sago.grub.


T2.T3
fa fO kwiya.
The younger.sibling carries the honeybee.


T2.T2
fa fa kwiya.
The younger.sibling carries the younger.sibling.


T5.T5
fa ya fuwa.
The sago.grub sees the mother.


T5.T1
ya ndE kwiya.
The mother carries the centipede.


T5.T2
fa fa kwiya.
The sago.grub carries the younger.sibling.


T3.T1
fO kE kwiya.
The honeybee carries the ant.


T5.T3
ya fO fuwa.
The mother sees the wallaby.


T3.T2
fO nO fuwa.
The wallaby sees the meat.


T5.T1
ya kE kwiya.
The mother carries the ant.


T1.T2
kE nO kwiya.
The ant carries the meat.


T3.T1
fO ndE fuwa.
The wallaby sees the centipede.


T2.T2
fa nO fuwa.
The younger.sibling sees the meat.


T5.T3
fa fO fuwa.
The sago.grub sees the wallaby.


T2.T5
fa ya kwiya.
The younger.sibling carries the mother.


T3.T2
fO nO kwiya.
The wallaby carries the meat.


T1.T2
ndE nO fuwa.
The centipede sees the meat.


T3.T5
fO ya fuwa.
The wallaby sees the mother.


T1.T1
kE ndE kwiya.
The ant carries the centipede.


T3.T2
fO fa kwiya.
The honeybee carries the younger.sibling.


T1.T5
ndE fa kwiya.
The centipede carries the sago.grub.


T1.T3
kE fO fuwa.
The ant sees the wallaby.


T3.T5
fO fa fuwa.
The honeybee sees the sago.grub.


T5.T5
ya fa fuwa.
The mother sees the sago.grub.


T1.T3
ndE fO fuwa.
The centipede sees the wallaby.


T5.T3
fa fO kwiya.
The sago.grub carries the wallaby.


T3.T5
fO fa fuwa.
The wallaby sees the sago.grub.


T1.T1
ndE kE fuwa.
The centipede sees the ant.


T1.T5
ndE ya kwiya.
The centipede carries the mother.


T2.T5
fa fa kwiya.
The younger.sibling carries the sago.grub.


T1.T3
kE fO fuwa.
The ant sees the honeybee.


T1.T2
ndE fa kwiya.
The centipede carries the younger.sibling.


T5.T1
fa kE kwiya.
The sago.grub carries the ant.


T1.T3
ndE fO kwiya.
The centipede carries the honeybee.


T2.T3
fa fO fuwa.
The younger.sibling sees the wallaby.


T5.T1
fa ndE fuwa.
The sago.grub sees the centipede.


T5.T2
fa fa fuwa.
The sago.grub sees the younger.sibling.


T1.T2
kE nO fuwa.
The ant sees the meat.


T1.T5
kE fa kwiya.
The ant carries the sago.grub.


T2.T1
fa kE fuwa.
The younger.sibling sees the ant.


T1.T5
ndE fa fuwa.
The centipede sees the sago.grub.


T1.T5
kE ya fuwa.
The ant sees the mother.


T5.T1
ya ndE fuwa.
The mother sees the centipede.


T1.T3
kE fO kwiya.
The ant carries the honeybee.


T5.T2
ya nO kwiya.
The mother carries the meat.


T1.T3
kE fO kwiya.
The ant carries the wallaby.


T1.T3
ndE fO kwiya.
The centipede carries the wallaby.


T5.T2
ya fa fuwa.
The mother sees the younger.sibling.


T3.T1
fO ndE kwiya.
The honeybee carries the centipede.


T3.T2
fO fa fuwa.
The honeybee sees the younger.sibling.


T5.T5
ya fa kwiya.
The mother carries the sago.grub.


T2.T3
fa fO fuwa.
The younger.sibling sees the honeybee.


T2.T3
fa fO kwiya.
The younger.sibling carries the wallaby.


T3.T1
fO kE fuwa.
The honeybee sees the ant.


T3.T3
fO fO kwiya.
The wallaby carries the honeybee.


T5.T3
ya fO kwiya.
The mother carries the honeybee.


T1.T2
ndE fa fuwa.
The centipede sees the younger.sibling.


T3.T1
fO kE kwiya.
The wallaby carries the ant.


T1.T5
ndE ya fuwa.
The centipede sees the mother.


T3.T2
fO fa kwiya.
The wallaby carries the younger.sibling.


T1.T2
kE fa kwiya.
The ant carries the younger.sibling.


T5.T1
fa ndE kwiya.
The sago.grub carries the centipede.


T3.T5
fO ya kwiya.
The wallaby carries the mother.


T2.T2
fa nO kwiya.
The younger.sibling carries the meat.


T3.T5
fO fa kwiya.
The honeybee carries the sago.grub.


T1.T1
kE ndE fuwa.
The ant sees the centipede.


T3.T5
fO ya kwiya.
The honeybee carries the mother.


T5.T3
fa fO fuwa.
The sago.grub sees the honeybee.


T2.T5
fa ya fuwa.
The younger.sibling sees the mother.


T3.T2
fO nO fuwa.
The honeybee sees the meat.


T3.T2
fO nO kwiya.
The honeybee carries the meat.


T3.T1
fO ndE fuwa.
The honeybee sees the centipede.


T3.T1
fO kE fuwa.
The wallaby sees the ant.


T3.T1
fO ndE kwiya.
The wallaby carries the centipede.


T1.T5
kE fa fuwa.
The ant sees the sago.grub.


T5.T2
fa nO kwiya.
The sago.grub carries the meat.


T2.T1
fa ndE kwiya.
The younger.sibling carries the centipede.


T1.T2
ndE nO kwiya.
The centipede carries the meat.


T1.T1
ndE kE kwiya.
The centipede carries the ant.


T3.T5
fO fa kwiya.
The wallaby carries the sago.grub.


T5.T3
ya fO fuwa.
The mother sees the honeybee.


T1.T5
kE ya kwiya.
The ant carries the mother.


T5.T5
fa ya kwiya.
The sago.grub carries the mother.


T1.T3
ndE fO fuwa.
The centipede sees the honeybee.




T5.T2
fanO fuwa.
The sago.grub sees the meat.



